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Meg had a lemonade stand. She bought 24 
lemons. She used 16 of them to make lemonade. 
How many lemons did she have left? 
 
Ciara set up her paper this way: 
 

   24 
– 16 
   12 

 
Meg has 12 lemons left. 
 
Is Ciara correct?    
 
Claim:  
Ciara is      correct/incorrect 
because           
           . 
 
What is your evidence? 
 
 
 
Partner Talk: 



My partner thinks         

            

            

           . 

 
 
I        agree/disagree with 

my partner because        

            

            

           . 

 


